
10

1
2

3
4

11

9

6

16

7 12

13

14

15

8

KAWASAKI NINJA250/Z250 STREET SPORTS FULL SYSTEM
R-11 SINGLE EXIT (w/ dB KILLER / w/o dB KILLER)

YOSHIMURA JAPAN CO., LTD.    PRODUCT INSTALLATION INSTRUCTION  MANUAL

Be sure to read the instruction carefully before starting work. It is necessary to follow the contents to install this product.

R11 FS Ninja250 -2 1/5 

1.  Product Information:

Parts Diagram

Lot Number

2.  Contents:
No.                      Descriptions                              Part No.         Q'ty   No.                   Descriptions                              Part No.          Q'ty

1
2
3
4

5-A

5-B

6
7
8
9

10
11
12
13
14
15
16
*

181-227-5100
182-227-5100
188-227-5001
185-225-5E00
186-227-5E50
186-227-5E20
186-227-5E80

186-227-5E80B
186-49A-5F50
186-49A-5F20
186-49A-5F80

186-49A-5F80B

161-227-0210
800-208-5015
803-206-4020
812-106-0000
812-108-2600
823-006-1000
118-000-1000
118-001-0000
162-777-4043
149-005-4138
129-152-1000
118-000-1100

Exhaust Pipe #1
Exhaust Pipe #2
Y Joint
Tailpipe
Silencer Assy (SS)
Silencer Assy (SM)
Silencer Assy (ST)
Silencer Assy (STB)
Silencer Assy (SS)
Silencer Assy (SM)
Silencer Assy (ST)
Silencer Assy (STB)

Silencer Bracket
Cap Bolt M8x15
Button Bolt M6x20
Washer M6
Washer M8x26
Flange Nut M6
Exhaust Spring (Long)
Exhaust Spring (Floating)
Clamp Band 40-43
Connector Ring
Exhaust Gasket #152
Spring Inner Tube

1
1
2
2
1
2
2
2
1
2
2
2

1
1
1
1

1

Description

Cyclone Type

Main Material
Application
Type of Engine

Stainless steel
Kawasaki Ninja250/Z250
EX250LE

Kawasaki Ninja250/Z250 Street Sports Full System
R-11 Single Exit (w/ dB Killer / w/o dB Killer)
K225S1111A 

Stainless Sleeve (SS)          ; 180-227-5F51
Metal Magic Sleeve (SM)     ; 180-227-5F21
Titanium Sleeve (ST)            ; 180-227-5F81
Titanium Blue Sleeve (STB) ; 180-227-5F81B
(SS)&(SM) : 3.6kg, (ST)&(STB) : 3.4kg

Part Number

Weight※

w/ dB Killer w/o dB Killer

Stainless Sleeve (SS)          ; 180-227A5F51
Metal Magic Sleeve (SM)     ; 180-227A5F21
Titanium Sleeve (ST)            ; 180-227A5F81
Titanium Blue Sleeve (STB) ; 180-227A5F81B
(SS)&(SM) : 3.5kg, (ST)&(STB) : 3.3kg

Part Number

Weight※

※ STD weight : 6.5kg

5-A : w/ dB Killer

5-B : w/o dB Killer

SD#74 (Pre-installed)
Part No : 138-138-3274


